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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly
on the cover-of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given
for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attachedfor necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Anypage orportion ofthe page left blank in the Question-cum-Answer
Booklet must be clearly struck off.
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SECTION—A
Writ % ‘3TTT fri"xr :
I
Answer the following questions :
f"Rfur w ft wicn: #r 3k w t ~ 3i)t A
Pirl+T % forg ~RTrfr 11 ~TT *TFITW I | % W TTWT
3TTmte t | NPT % W 500 ACPT' 100 P~ T
t | Fler f\ » % 3T~ 625 fcT 3 ~ A ] wfrT
FTTSIT AT | 625 AT ~ 3fch 3RTOT T RF 7T 3R n
10 cT™M WTf T MTT at™Tl w ft FYTRTT ATT A gif T W
t ? 3ftr Ner w50 ft, 3pjT#ftr fern. *wht "« ™ & ?

A construction company builds primarily three and four unit apartment buildings (called
triplexes and quadruplexes) for investors. It is believed that the total construction time in
days follows a normal distribution. The mean time to construct a triplex is 500 days and
the standard deviation is 100 days. Recently the President of the company signed a
contract to complete a triplex in 625 days. Failure to complete the triplex in 625 days
would result in severe penalty fees of Rs. 10 lakhs for every triplex not completed within
625 days. What is the probability that the company will not have to pay penalty fees ?
Approximately how much penalty fee will it have to pay, if the total number of triplexes

to be built is 50 ? 10
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NORMAL DISTRIBUTION

An entry in the table is the proportion under the entire
curve which is between z ~ 0 and a positive value of z.

Area for negative values of z are obtained by symmetry.

z 00 01 02 03 04 m 05 o w6 07 @8 . -09

00 <0000 <0040 0080 0120 0160 *0199 40239 0279 -0319 0359
01  -0398 +0438 . <0478 *0517 0557 *0596 *0636 *0675 m0714 <0753
02 0793 0832 0871 0910 0948 0987 1026 1064 *1103 1141
0-3  +1179 ' 1217 #1255 1293 1331 1368 41406 w1443 «1480 1517
04 -1554 1501 1628 1664 1700 ¢1736  -*1772 1808 «1844 <1879

0-5 1915 1950 1985 2019 2054 2088 #2123 2157 2190 02224
0-6 2257 *2291 02324 *2357 2389 92422 *2454 2486 2517 *2549
0-7 2580 *2611 2642 2673 2703 2734 2764 -2794 2823 *2852
08  «2881 2910 2939 2967 #2995 :3023 m3051 3078 3106 3133
0-9 3159 3186 3212 3238 *3264 3289 3315 43340  +3365 3389

1-0 3413 3438 3461 3485 3508 e3531 -*3554 3577 . <3599 3621
11 3643 *3665 3686 3708 #3729 m3749 <3770 3790 m3810  m=3830
1-2 3849 3869 3888 3907 3925, 3944 3962 3980 3997 4015
13 +4032 *4049 *4066 +4082 *4099 *4115 #4131 *4147 *4162 4177
14 4192 *4207 *4222 m *4236 *4251 4265 *4279-. #4292 4306 -4319

1-5  +4332 *4345 #4357 4370 4382 *4394 *4406 m4418 *4429 w4441
1-6  «4452 *4463 24474 *4484 *4495 4505 *4515 w4524 +4535 *4545
1-7  +4554 *4564 4573 4582 #4591 *4599 . 4608 *4616 *4625 #4633
1-8  «4641 *4649 *4656 -4664 *4671 *4678 *4686 *4693 *4699 *4706
19  +4713 *4719 *4726 *4732 *4738 *4744 *4750 *4756 *4761 *4767

2-0 4772 *4778 #4783 +4788 *4793 *4798.  +4803 *4808 *4812 *4817
21 *4821 *4826 *4830 *4834 *4838 *4842 #4846  .-4850. w4854 <4857
2-2  +4861 *4864 4868 #4871 *4875 m4878 « 4881 *4884 *4887 *4890
2-3 #4893 *4896 4898 4901 *4904 *4906 *4909 *4911 4913 4916
2-4 <4918 4920 *4922 *4925 *4927 4929 m4931 *4932 *4934  *4936

2-5 4938 4940 +4941 #4943 *4945 *4946 *4948 *4949 *4951 *4952
2-6  +4953 m4955 *4956  .*4957 +4959 . #4960 4961 . 4962 m4963 4964
2-7 . #4965 *4966 *4967 *4968 *4969 *4970 *4971 #4972 *4973 *4974
2-8  «4974 *4975 . -4976 *4977. #4977  'e4978 *4979 *4979 4980 44981
2-9 4981 *4982 4982 +4983  .*4984  +4984 . -4985 +4985 *4986 4986

30  «4987 *4987 *4987 4988 *4988 4989 m498? <4989 #4990 . +4990
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PIMfafafl ~TTCnT T AT Sl, S2, S3 $tl S4 t | FT <"FESFT
*t yf pr w ftnfafisRT uifM ~ to w ti w sir 3
v %l ~ 3 "M W I, 27~ 2 RTti

Consider a production process given below involving, processing in four workstations
Sl, S2, S3, S4. The processing time for processing one unit of product in each of the
workstations is given in table below. You can ignore the move time between the workstations.
As shown in the figure, 2 units of S2 are available.

(i) 3MR S3 TOT W 8 AT fan dT W W 3
snAMft ? 7HIF ?

Workstation Sl S2 S3 S4

Processing time (in Min.) 10 16 12

(i) How many units are produced in an 8 hour day ?
(if) 1f the processing time in S3 is reduced to 8 minutes, will there be any reduction in

work in process ? Why ? < 10
X A TiftfcRT 3 A tl N tPR?
Ter NHCT TT 33T t - 3fft tf~ MT 8 aftl
2.5 I"TW tl M 300fAT ATT 11 FT N fT
T % ATT *IRIT S 7FT THPIT Mt | 37T A 3RT 3NT
3 r11n iw vowr t, iIW ' m 11 EANEA
200 t, ~cih sMT w N 3wl 3Mir 3 r t o sflr Amtix 99%

%5 TIFIT *5 W Ftrn ?

A Fast Food outlet stocks frozen pizzas in a refrigerated display case. The average daily
demand for the pizzas is normally distributed with a mean of 8 pizzas and a standard
deviation of 2.5 pizzas. The outlet operates for 300 days in a year. A vendor for packaged
food distributor checks the market’s inventory of frozen foods every 10 days. The lead
time to receive the order is 3 days. If the purchase cost of one pizza is Rs. 300, the cost
of placing an order for pizza is Rs. 200, what will be the optimal order quantity ? What
will be the reorder point with a lead time of 3 days and service level of 99% ? 10
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Q. I(d) w f m (Marricft.) A fenjp A~ 11 wmt “myjfcfecrf 11
AT WATT 7eTT 83T f t% ~ pTffg- "STtt "eTT A "fArFr~sfh:
stft $ 3~ #trtr A 11 Ar ARfMLE & N A.3nift y'mftd f ? srcm
IXAr....?" HTO Weft fAgcT ATR | | ™ W ot A HIRHY

Ar ST AN Ft% 1ire A fAN55rfxrA™ 3«n tw f 3flr A 16 fcr *f

W HRITt1#TA"~"~3TNA™ A3nfAr. A | T vZIT
TroM it Ar2t 550 w I m Nttt w N 3,

Ao Amit{. (“FZ rmf"T) ~rnm”C t, TN ij-#" ~cf deMK* %

TEN A tl WKW AT 3 Y3TTH I, ~TTT*m t ?

NPT cTif ATyKuia; 3TPT WKT Ftr qild) ATt f 3T SY\PXF ST W
CTWT 2-3 W I 1 UMeT«T A 3T Plat IFTAK $ 20
Fftt 11 ~.mi.ti. it $ 3?7mt fAr A stpt ~rr

F3IN  3IN7OTIC 2 32Nt HMdIsfr  FTA MFAT 3T A3TTAA fATTAT
AT TOR AtFAT (IR 3N A A f) ATTOM ART A FITAA,
A AlPc(d A (3ef 3N 5 f) 2

“JIT is not for India. We have poor supplier reliability, country is so vast that to get some
parts here in Gurgaon, | have to source it all the way from Thane down south. How can
I achieve JIT in such a context ? Impossible L' And ... then we have a pathetic logistics
system. Truck owners take you for ransom once your load is with them. | expect an item
in 6 days and get it in 16 days and you suggest JIT to me ... I tried it once and my clients
got their orders at least a month late.” These were some words spoken to you, a JIT (Just
in Time) consultant by-a machine tool manufacturer located in North India. Do you think,
JIT is feasible in his plant ? The machine tools are generally made to order and order
fulfillment time is around 2-3 weeks. The assembly takes a maximum of 3 days. There
are around 20 major parts for the product. What are the aspects you have to concentrate on
to ensure JIT success ? What structural modifications do you suggest in this case ? State
your-assumptions clearly and prepare a proposal indicating the methodology you would
adopt to implement JIT (if you decide in favour) or a proposal why JIT cannot be implemented

(if you decide against it). 10
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Q. 1(e) ccf ~ m «ra w\ ftwfa fAr «fsr *pti% w wf s -nj,
% ftp? » Mfwr ™ fatqgywre fAr i xe&OTF N A M f
N fAnAirtef werft *f < ACw fr «fj# % ferq Tjg#r fArr 11 A Ar (cStatf
- 136 PT3) M, *TRM fIWT #T ATA AT:AR™cH I AcCMTF ~T ATOT
FH 5200 eftzrf ¥cT t'RT %W | ?

HAKYi : TRSTT % sR«IIH

N m  (ooo <$U</f*re) THT
4001—4200 7
4201—4400 21
4401—4600 32
4601—4800 49
4801—5000 58
5001—5200 41
5201—5400 27
5401—5600 u

Prior to construction of a dam on a river, the organization entrusted with the task of
construction of the dam performed a series of tests to measure the water flow past the
proposed location of the dam. The results of the tests were used to construct data shown
in, Table below. Compute the mean, standard deviation and the coefficient of variation of
the river flow in litres per minute. What portion of the water flow occurs at less than

5200 litres per minute ?

Table ; Results of Test

River Flow (000s of litres/minute) Frequency
4001—4200 7 <
4201—4400 21
4401—4600 32
4601—4800 49
4801—5000 58
5001—5200 A1
5201—5400 27
5401—5600 n
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PATRICH#RT THHf % TITC

Answer the following questions :

XYz, FICHIT | 3FN 3feR-3FCW fART fWMISTF VX AR ™
11 w f wfter t wpt frprfar sfh ~ Arr, sftr 3#f/r

AT fARFrl ARTTT 3ftr f%TTA T* ATT, AFT wfATT #C N %TT, WFAT WTFTT,
cnr % s?#r 'sfefee afft; %ow i ft fWtwro? A ftrfk ~ddi 3t® w wr
A <$ % 3ncfiwT vi wm 11 **t torer tW”prnt #r w w %
M fa NTefTY (Mft? ~#), pPrifcffect zmrft wfM AT Wt I, HF 8FT f M p

eft *m ~ fAr TiNt ™t
¥TNMr . 02. ~ATF it)
wjna <\

MIWSRT IcFT wufr ffe

OTfcTO TO? 5 17 45
15 19 24
17 14 10
7 24 36
32 15 6

fARIMAW W i&HM AN AT ARFT W APT

(i)

(i) wmi “fnsRr

@iii) FTfAr ~rews, 3TAm j =03 7 i

XYZ, a real estate development firm, is considering several alternative development
projects. These include building and leasing an office space, purchasing a parcel of land
and constructing an office building to rent, buying and leasing a warehouse, building a
shopping center, and building and selling condominiums. The financial success of these

projects depends on interest rate movements in the next five years. The various development

c-aVz-o-nhnb 7
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projects and their five year financial return (Rs. Crores), given that the interest rates will
decline, remain stable, or increase are shown in the payoff table below.
Table : Payoffs from Development Projects (Rs. Crores)

Interest Rate

Project Decline Stable Increase
Office Park 5 17 45
Office Building 15 19 24
Warehouse 17 14 10
Shopping Center 7 24 36
Condominiums 32 15 6

Determine the best investment option using the following criteria-:
(i) Maximin criterion.

(ii) Equal likelihood criterion.

(iii) Hurwitz criterion with a coefficient of optimism - 0.3. 15
Q. 2(b) snTAT TpT APTT OTcft (A~ mi w) WCAWT 2
11 ~fr %w ~ A A wr /A t
| 78 W “franchise’ ® 75 20 ATT 3 t | $sff

ANSTT t WT 3fk ~MKFT n f| SI3TT
% A t Aot NMrogsr 1) w ff A Arswf
%i % -zmm wW.Ww i f 1cpm 1500 N (nft
3 NN fte#) wito RfAY'd, w 1
A fArnr $ w N~ wfM ot LfkMtz A 6 MEFF
ijcpf % 9T B tri~cfT FfT | { WT ATPE TR *TW %
*r*ft t A~ A f[f% ifcfr t <2 30-70 # srrsirc

11T wt tne 3R# srsrcf *f LA i

w ft <P ATT Ot WT t i~ 93% 100 A~ A T~ f 1 FPIT
tost Ft w ft f~r fArw ~fr t fsrnr A 2tw #

M I t( MT tlh W~ N *TTOT f{
N wr VX %wsr wte I s fAar A # wr
A PTCTHT | AMr JRT  AT2?T WTT t 3hC ~ef Ft# t |
Fl%otn 3RPT %W 2T, MW WACT % 3RT ~ I (WWW
unbranded wn#T 'B?qi™' rft cwmcft rff% % ftcTA WT wrt
t, T 3T#fA ~g% ~T 5AT W T (¥/AA TFT A) 3TIW?MT t |
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W 3fmt cTOT t MIS W 3T t 2 %Mr ACTT  MIS A
T AppAr | 3TRY MTPKUSE  forfA | ATATTCRt  Atrf 4T
# A (AFfAlefl) A ATEEPT ATA £ M (TR A ft ME tft) e

i

You are invited as an MIS consultant to a major chain of bakeries in Bangalore. The
bakery chain has a major manufacturing centre at the heart of the city and 78 exclusive
franchise outlets in a 20 km radius. The outlets have no baking facility but have heating
as well as refrigeration facilities. All items are supplied from the central store (attached
to the central manufacturing facility) through delivery vans. The frequency depends on
the usage pattern at the outlets. The items, numbering around 1500 (not all in all outlets),
includes pastries, biscuits, light refreshments, frozen cutlets etc. The quality control department
of bakery has an ageing schedule for each item. This could vary from 6 months for
biscuits to a day for Gulab Jamun. The chain participants will destroy the items once the
time is elapsed and loss is shared on 30-70 basis between bakery and the outlet. In rare
instances the bakery used to transfer the items between the stores.

The current information system of the company is simple. The outlets call up between
9 and 10 am to give orders. The company, if feasible, will deliver the items on the same
day. If not backlogged and serviced on some future day. This is creating problems for the
outlets. Many are not able to get connection with bakery over phone on time. Even those
who placed the orders, could not get in time. This has resulted in overstating the demand
and large amount of wastage. Even though contract forbids the outlets from having some
other products, the managers are discreetly selling other products (mainly unbranded
similar looking products from local producers). As commission from the bakery is large,
the major reason (according to managers) for this unethical practice is lack of availability.
Do you think a structured MIS can be of any help ? Prepare a proposal for developing

an MIS for the bakery chain. State your assumptions. ldentify the work system(s) and
clearly define the processes. Conduct a detailed analysis to make process (work system)

modifications (if needed). 20
M-N m n tl 3 aftr
-m £ 3TRit fAr f 1~ fosm W I, R SIRTt 3fk €FRT

wfrrr ATeTT || IPT-3ACTIT A B3 CtIFT

TOftl 3ik~c M T? AlcT# ~ TXWT ~“TrTT t | FT n W TRWFT
Q t 1 FT FT WTF 3 2400 AT<ft %\ A FSfmT
WT, »  TSIRKKIT WT 3%k ftcTT nPT | ("TWT ~ *TTO FT WTF
pjrit $ 12000 Wr 11 wnfr ~r mnfl* nR”ich 11
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The M-N Plant manufactures two different products M and N. Selling prices and weekly
demands are shown in the following diagram. Each product uses raw materials with costs
as shown. The plant has three different machines A, B and C. Each performs different
tasks and can work on only one unit of material at a time. Process times for each task
are shown in the diagram. Each machine is available 2400 minutes per week. Assume
zero setup and transfer times and constant demand. Operating expenses (including labour)

total a constant of Rs. 12000 per week. Raw materials are not included weekly operating

expenses.

() W TOF THAOWF t ?
(ii) qo  t ?

(iii) *TF FT TOICF ton erm WTO t ?
(i) Where is the constraint in this plant ?

(i) What product mix produces the highest profit ?

(iii) What is the maximum weekly profit this plant can earn ? 15
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A 3fteitte jsf, wnft, 3k » t% $ fer? stATCWT ffeTPfr

TR T T w ft A 3Mte? IRTC ™Mff % HEET 3k i*T A 3JWRT *RT%
t ITW TeTwft 500 A 3IPT3TO t 3k T

cTim 21 25% czrt RIexr 11 w ft <rWF % fawr w tt ~TAMt 11~ w ft
whrr £ w o sk ~rro<si(k™ £ Mpt gl 11 foc, ~ 3mr tfto B2B f~Awr
TOTT AT<ft t ATFF 3iW 1« t 1 ATT, Wt 3T ATTAT ftPm %

w snftor ~nfrr w

tiofr T 3T gSTR# t | M NT AWHRW N 3RT W micT ATHT Mt
tl £ 3F m"Z fcHr ™ wireT £ ; (1) PRTRWV JYaf T 3k (2) AT |
N Af A f o w N PIWANL MIYET, AT M PTTTTg W N
TRT 3k W fk ™ |
W ft A~ 3TA Nigtrqt » ™frT 3”cft N I NIFTW:, QR AL
AT VTFT WTscl 3k Rh< A ATARETA IArf TSTT A WBTETTM M fsfaft
wttezr# HRcfr 11 Now ft % T
AT «Tt «dgd Viti « 43T | "MTf) AN 3FFft SiisFPT (auction site)  "OMhT
to X OR mMN w W 7t faskw NN N 3trhb

STRH AT AR Decision Support System g3fi 1 ITwePT
Wiz (fTarfr W'2) wm gni
@ wft ASTHWT -)r\ril A TN 3RT STPMTT B2B *cTf % cRF t 30T

I ?
@i ~ T tew N M cTW #Hot ?
@ii)) W ft A™frT "Elcft AT fw _ "R ATf SITITM t ?
Company A is a leader in creating online auctions for buyers of industrial parts, raw
materials, commodities, and service around the globe. The company has created auctions
for goods and services for hundreds of industrial product categories. It auctions more than
Rs. 500 crores worth of purchase orders a year and saves buyers an estimated 2 to 25%
of total expenses. The company operates two types of market places. First the company
helps the customers purchase goods and services through its global B2B market place
where reverse auctions usually take place. Second, the company helps companies improve
their asset recovery results by getting timely market prices for surplus assets through the
company’s Asset Exchange, employing a forward auction process, as well as other selling
models. The company’s Onsite Auctions include : (1) asset disposal recovery and
(2) sourcing (e-procurement) functions. These functions provide : Assets disposal analysis;
Detailed sales offering; Targeted market outreach; Event coordination and Sales

implementation.

c-aVz-o-nhnb 1



IV' CAREERINDIA

The company helped several companies make asset recoveries. For example, QR Corporation
needed a channel for end of life, old models and refurbished power protection products.
These were difficult to sell in regular distribution channels. Before using auctions, the
company used special liquidation sales, which were not very successful. The company A
deployed the auction site and helped QR determine the auction strategies (such as starting
bid price and auction running length), which were facilitated by Decision Support System

modeling. The site became an immediate success.
(i) What makes company A different from other online B2B portal for online auction ?
(i) What are the technological considerations in designing such portals ?

(iif) Why does company A concentrate on asset recovery and on e-procurement ? 18

Q. 3(b) Vj$ TTt AB#(C " faPmfrl t
. fexr t | % *NT WT t, Y s
A NC2FEN TNt TOcff » ol | = I 3Tk
fan w 11 A fAnrfw
20,000 t | fARfn MR 20,000 W* TPpIC
11 PTH VzFt 0.24/~7M 11 w ft ffTOT A A Wef ~
99% WT ATT Iwft Tt t
AFPT i TS 3~ T AN %l
2 % f~, wm N
nier
0] fafrr % srft’y T~ A *fw Nt
TTTcTt BEJPT CIFRIF |
(i) faHJT ~ A % WAKnniT (“"rm#FT) 3 wft ¥cT 30> % 3ife
TIFAT t ?
aetMY #r wwf % fen* wr 3TF>t
HIAT gin'n AR,
2,000,000 200,000
B 1,000,000 150,000
C 4,000,000 200,000

C-AVfc-O-NHNB 12
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Three models of a product, namely A, B, C are to be supplied by a manufacturing factory

to a distribution center. Since the product is shipped by sea, it takes 2 months transportation

time for the product to reach the distribution center from the factory. The means and

standard deviations of annual demand for the three models are given in Table below. The

manufacturing cost of each model in the factory is Rs. 20,000 per unit. The manufacturing

cost of the generic, non customized product is also Rs. 20,000 per unit. The inventory

carrying cost is Rs. 0.24/Re./Year. The company would like to provide a service level of

99% for each of the models at the distribution center. The company is weighing two

options :

Option 1 : Make each model in the factory and ship to distribution center.

Option 2 : Build the generic product in the factory and customize the models at the

distribution center to make each of the three models.

(i) Calculate the safety stocks to be provided under each option and their corresponding
total annual inventory carrying costs.

(if) Upto how much amount per year can the company spend in customizing the models
at the distribution center ?

Table : Annual Demand Data for Three Models

Model Mean Annual Demand, Standard Deviation of Annual
Units Demand, Units
2,000,000 200,000
B 1,000,000 150,000
4,000,000 200,000
18
Q 3(c) Xyz TRft 4 wrff $ wrz fa t twww Al Nor 3fk XYZ
NCTT | Al dlcii Nelllnl rRPTA 50 W < t, XYZ I Hif T
70 yfcr 11 3NT n 3ffwr 500 11 Al
WMFIT [3TT TFT t, XYz TOT % WTr
t 1 3TITR £ XYZ 3TC Al 3TS % W 2:1% 3PJW f
fen | | XYZ Al # A 100 McTcf mt |
0 ~ AN 3TtocTHNT % frP), A A fepft
Mrfer w ft ?
(i) Al 3T XYZ XCTT % sfa % 3FJTO AN ()

A SmfwWFET TATT ?
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XYZ Grocery sells two types of soft drinks : the brand name Al Cola and the cheaper
store brand XYZ Cola. The margin of profit on the Al Cola is about 50 paise per bottle,
whereas the XYZ Cola grosses 70 paise per bottle. On the average the store sells 500
bottles of both the Colas a day. Although Al is a better recognized name, customers tend
to buy more of the XYZ brand because it is considerably cheaper. It is estimated that the
XYZ brand outsells the Al brand by a ratio of at least 2:1. However XYZ Grocery sells
at least 100 bottles of Al a day.

(i) How many bottles of each brand should the store carry daily to maximize the total

profit ?
(ii) Determine the ratio of the profits per bottle of A1l and XYZ Colas that will keep the
solution in (i) unchanged ? 14
tmi Pnfa w fa fax'mz~rx Fnff
$ fflT to NTTFTt I W *ReT t
gfaFTOf TIT RTT WEETT t | fATI# "Z H
mept PnW ywr, fArftor, 3k Frsr % gsnx $ fct
t 1 *F ~Froyf APTT3IN -r % WT WTWT MRS, M T
ATHRT 3k WIFTCS, '3TAf-AMf W FIFTT ~ 3R M | WEPT WftcfT
AT, *TF A =RIT 11
tArr WArhr N m w ftfM % w ft 3l 11 «@t”
t fa AN fferat ~r 3TTENfN 11 trirfsr™M* wtorf A Art
rfNAT WT A WCST t, ARKR "PTT3Tf ~ 3k
~rtoarf "nM N e FAe 1l
ARtm  Wirfvhir NrK ARMN % felQ, f% T <jfe "WATF, 3k
sph M A Nrweft A hsa® M Arr
11 f71 e T AW fAWAThBT 3k Tjg"T % fc 3FPft "RfaR ~SfcNI
STWMf yhjtRfAt % ~T°T ~ T 11 (T ~ A 3fT"t
mwm wspt Asjrn 3RT:2rff 11 NottArnt
tor T$m t, htfrr~ wrgf wfAr,
3~ i
i w % frAT. A M dk( §TOI3TF ~ I
(i) %T t, itTY.ToH. AT I"Rvr RITT ?
(i) #C NCOWTW L 23PN #
t fr. T T, %TTg-tN it RTT ~Tfpr ? % rr ?
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Vanguard’s decision support system software is used by thousands of companies for
enterprise decision analysis. The software makes it possible to apply decision analysis
techniques throughout an organization to problems ranging from simple projects to enterprise-
wide strategic plans. The Vanguard Sys. is a comprehensive business solution for improving

the quality, reliability, and speed of management decisions. It does this by helping collaborate
with colleagues on important plans, analyze alternatives using state-of-the-art modeling
and simulation techniques, automate routine decisions using expert system technology,
and improve overall management effectiveness by adding structure to a normally chaotic
process.

Vanguard’s collaboration abilities go well beyond simple communication strategies like
Web conferencing. Rather, Vanguard is based on principles of knowledge capture. The
Vanguard Sys. can combine the knowledge captured by many individuals to create a Collective
Intelligence that is useful for testing business plans and automating routine operations.
Vanguard combines all of the most powerful and essential quantitative methods in management
with features of spreadsheets, artificial intelligence tools, and math applications to produce
an advanced business modeling system. Vanguard improves the speed, reliability, and
quality of routine decisions by combining its business modeling capabilities with Expert
System technology. Vanguard has the potential to transform business by improving
management team decisions rather than simply analyzing operational data. VVanguard supports
a wide variety of methods for integrating data and it can connect to virtually any business

system, e.g. Support for Customizable Functions, etc.
(i) Identify the main capabilities of the DSS software from the narrative.

(i) Why should DSS support data integration as mentioned ?
(iii) The Vanguard Sys. has been dubbed also as a KMS and an Expert System. Why do

you think a DSS should also be a KMS ? An Expert System ? 15
TJpreftw VX ficr$ Piirn &~ T xfr3HI4RY|
11 mm.: % 3itr ~owosft 11
$ aPiRNddi n wfefR » w f sffpcpt
(FMf ) tm f w : PrrmRT~t ww (b), wr (),
xm  (m) | wf+dN—1 fTTFT TOT afft "Rf # ~TO 5, 7, 8);
2. yc'rftld W3H TOT (6, 8 12); 3. szfr"TT tziR (3}4, 5
3RT wferrqg % noon Mt fiwferm 4 37%k
A vt (11, 17, 25) |~ oA tor Mr
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11 frifcIR 5. 3TTAMT 3t ATT (8, 10, 12) 2 TIT M TOTT

11 4>IfeilM 6 TPMt ~ felq 3Mm? (3, 4, 5) "FfecTN 33 5% ~ F~ 2

WC Ft WT 11 ~FfeTFT 7.toW f MINTT ~TTT (4, 8, 9) wfoeTPT 4 TIT
T f%°T TOR 11 8. TO (5,7, 99 wfr*TN 6 W lfa MT fr4x

TOIT 11 <wf+dH 9 3THT T t TO W 8, 11, 17) W "M cTR 771 8

%tju #r 4?6 $ Rw 11 ~rferm 10 7stt N fag Artt t™rr AN

(4, 4, 4) wfecTFT 77 Ft «IP VITT Ft WETT t | $ 3R7 Scfr? +1M"dW

A feH) fAfE A g, m, b % MPT A t)

@i MuTeH TN

(i) HRM«Hi At iRATCT 3tk ~TPT™ fA"TeR W t ?

(iii) tow ~AnMt "t ~hnepr 47~ AN TR yitodi tofr
t ?

The Director of continuing education at SUV University has just approved the planning
of a sales seminar. His administrative assistant has identified various activities and their
relationships to each other. In view of the uncertainty involved in planning the seminar,
the assistant has provided three time estimates (in days) for each activity, namely; pessimistic
time (b), optimistic time (a) and most likely time (m). Three activities— 1. Design brochure
and course announcement (5, 7, 8); 2. Identify prospective teachers (6, 8, 12); 3. Prepare
detailed outline (3, 4, 5) can start without any other activity being completed. Activity
4. Send brochure and student applications (11, 17, 25) can start after activity 1 has been
completed. Activity 5. Send teacher applications (8, 10, 12) depends on the completion
of activity 2. Activity 6. Select teacher for the seminar (3, 4, 5) can start after activities
3 and 5 are complete.. Activity 7. Accept students (4, 8, 9) depends on the completion of
Activity 4. Activity 8. Select text (5, 7, 9) depends on completion of Activity 6. Activity 9.
Order and receive texts (8, 11, 17) can start after activities 7 and 8 have been completed.
Activity 10. Prepare room for the class (4, 4, 4) can start after Activity 7 is completed.

(Figures in brackets give the values of a, m, b in days for each respective activity)
(i) - Draw the network diagram for the project.
(i) What is the expected duration and standard deviation of the duration of the project ?

(iii) The Director wants to conduct the seminar in 47 working days. What is the probability

of doing this ? 20
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Q. 5(a)

Q. 5(b)

IV' CAREERINDIA

w ft AfW % fo" t Ar THE 11
3TRYer *fMt Arrtt % M, fmrof A # AALM O TIFT AR
SRPf A fAj A T 1500 Wt pNd A € 3T <l 21 > 3piT WTW % TTef

B A 500~ AT TO fRT AT M .3ffc T

N feir 150 AT AcTh AMT # 11 X> cfftkT FTAT 471+df C

TO 1000 Wt 3ftl "RR f~ ~ 50~  "NeRTT | |

(i) ¥% ~IA, ~ TO <Bf 3ft W WIT, AHTTCr w AT ANM
N to o w ol os™Te e NMfr ?

(i) C SRT ¥WT feu*T Fifa>K/RTIT A 3 A TYNTT ?

(i) B SRT VA)+K "RTT 3TWT W TNTT 2

A pharmaceuticals company is reviewing its employee healthcare program. Currently the

company pays a fixed fee of Rs. 1500 per month for each employee, regardless of the

number of rupee amount of medical claims filed to healthcare insurer A. Another healthcare

provider B has offered to charge the company a fixed fee of Rs. 500 per month per

employee and Rs. 150 per claim filed. A third health insurer C charges Rs. 1000 per

month per employee and Rs. 50 per claim filed.

(i) How will the average number of claims per employee per month affect the decision

to choose the healthcare program ?

(i) When will it be best to go for option provided by C ?
(iii) When will it be best to go for option provided by B 715
<HI—<T
SECTION—B
JPHf % TSR ATTT
Answer the following questions :
A wrer ft"?T i?t sfflmpw #x w f ftsrfw # to

wiwz ~Nfrt ?

How does the product-life-cycle theory explain firm’s preferences for and timing of

foreign direct investment (FDI) ? 10
IT<&iPi+f\y3ft wfrrrft w t 2?2 Jr ° Arpfkrtof SITUR™M to t
N Mi % TO 3r*~ t2tt ?

What are public-private partnerships (PPPs) ? What have been the experiences to date
with effectiveness of PPPs across different segments of infrastructure sector ? 10
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Q. 5(c) ftM TR % tpycf WEPT t 2ftM wm $ fm %
"MT ~T.'SRk tor wr | ?

What are the principal means of payment in foreign trade ? What are the main documents

used in financing foreign trade ? 10
Q. 5(d) "™+ M 7 AN tot fthr i %wr "
m fAnr toT «trt ?

Distinguish between “strategic alliance” and “joint venture”. What factors should be

. considered in choosing an alliance partner ? 10
Q 56 w i w*nit trafil*f, Mf~Afhr ~itto wept <u( Al
3 to W I SFHid A ?

How can innovative business practices, environment risk management and environment

audit help contain harmful impacts of environmental damage ? 10
Q6 Prerfclfad TO# % 3rR iYto

Answer the following questions :

Q. 6(a) -fATRT 2/fATRT 3, 1984 ~ ~ T# ~ N *ttW A toRft 3™ fAKt 3 »

$ fenr 3TTW A s % ST W wf ficHr
A ART T fsRT (#57) L. 3 ~ W (I Yfcftol *Trt
osnrdr REOA sfti TEzid™~ % w, W wr#T¥ yRrMi m w ftsrraw

. N gfcdRfd FIAT AT N TP B % Ft W P $§ "KcfT
NOYBANRT WIE 3T M W FTFT A A filTl 3000 c~torf

Ft w  FYrff ~hR* 3ot titti A gq w  “rrra-
2t titt i cAdiij 3fA5 ft wz, hANNI Ft w 3fk Nafr A N5 # N*rffor
I sVl 3Tt *t W @ITt <O FTTAT ACSTT ~ yferftf £

. Pt "TEPT 3TOFT fins I

0] wtm % 1T Apftfcr FMr ?

(i) A~ ATeTf 3 ~TicHjfcf W T Fnt ?

(iii) Nt N BN A ATW At W1eMN # Mo«
MURXT |

ivyw m At 3rfAR*r "TOt "t AMEAr wept «Knf*M A to w t witef

" toT % 2rwr t ?
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Q. 6(c)

Q. 7(a)
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On a cold wintry night of 2nd/3rd December, 1984 when the residents of Bhopal went to
their beds, they had no inkling that many of them were doing so for the last time. Not
far from them in the factory of Union Carbide (India) Ltd., a chemical reaction had already
started to that end. At around midnight, this chemical reaction culminated in the leakage
of deadly Methyl Isocyanate (MIC) gas from one of the tanks of the factory, A cloud of
gas started enveloping the city in its lethal folds. The tragedy took an immediate toll of
about 3000 lives and left thousands of citizens physically impaired. Livestock were killed,
injured and affected. Businesses were interrupted. Environment was polluted and ecology
was affected with flora and fauna disturbed. Settlement of compensation still continues
to be problematic. Besides, health care safety and rehabilitation instruments were found
inadequate.

(i) What should be the strategy for environment protection ?

(if) What should be the compensation policy in such cases ?

(iif) Explain the role of NGOs in- the mitigation of pains of such an environmental

damage.

(iv) In what manner can such unthinkable events be incorporated in the enterprise risk
management programmes ? 5+5+5+5=20
t ?, srcr A A t ? crw

3fk FPwEw t ?

What are various entry modes by which firms can enter foreign markets ? What are their
advantages and disadvantages ? 15
3IN W % W ? "+ITHK wicftfcT ajfa

What do you understand by the term “Strategy” ? Distinguish between “Business Strategy”,

“Corporate Strategy” and “Product Strategy”. 15
A A ¥pt % sttstt A A
fasrffar T#t 11 n p 11 % frrc; fARTrr T
eTIW A TTFr/ff ~F 11 ~ A
?, et 3R % WT WTF At ? ?
@) virHc, RPinfAl Ft At WAL FAL At AMATCTA FTT WTI
(ii) 3 Ft Ao Tt fWT
I
(iii) "t otefT NONWT "t I 50/50 £
% ST fATT *TTW rfm fAWT ATHHPT I
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A small Asian firm has developed some valuable new medical products using its unique
biotechnology know how. It is trying to decide how best to serve the European Union. Its
choices are given below. The cost of investment in manufacturing facilities will be a
major one for the Asian firm, but it is not outside its reach. If these are the firm’s only
options, which one would you advise it to choose ? Why ?

(i) Manufacture the product at home and let foreign sales agents handle marketing.

(i) Manufacture the product at home and set up a wholly owned subsidiary in Europe
to Handle marketing.

(iii) Enter into an alliance with a large European Pharmaceutical firm. The product would
be manufactured in Europe by the 50/50 joint venture and marketed by the European
firm. 20

Q. 7(b)
TOIC) M 12 SFTTefr w § IcR
wr At ?
What are the main objectives of price and distribution controls of essential commodities

in India ? What problems do “controls” cause ? What steps have been taken to strengthen

and revamp public distribution system ? 20
Q. 7(c) WErrmf N witof f%wn 11 iH
to Mt wm A ft f*rorr » fMt % tosr w ttt N
N ~Er> t, ANt gFRt 3TFcrft™ TOeft
t wr wrrg"Rf sro w r m an“cHT ANVt wt N

(i) w W "FRT.tnftt % Mt 3 tMtfcW 3#TOfT' ~ACT et MPAFT % WmX

it# t 21 tt ~ 2
(iltom_tom-w ~rrir srrrtorwtt
N7t ?

Press reports have constant flow of tales of political instability. Not surprisingly, managers
consistently rank political stability as a major factor in evaluating the business and investment
climate in a given country. Despite the fact that managers overwhelmingly believe that

“political risk” is a major factor to be considered, a few multinational enterprises (MNES)
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have internal assessment mechanism or have sophisticated teams that can evaluate the
usefulness of assessments provided by consultants.
(i) Isit correct to assume that political instability in a country equals political risk ? If
not, why ?
(i) How would you factor in political risk in evaluating foreign investment proposal ?
5+5=10
TTd, ftPnfdl 1996 % IT n sk
cR fAT ~ SXPTA flIUKE Ft T# t 3k 5 N ikR, to? 40% $
W Ft ipftl 3% fAWT, ~.WT ~ fkfft' ¥ T W ~ fAWTA
A e xXef wj %wr A *fwzmi w i n
#T AT 8T 3k ~pft %30T f, wf ~rgj TOTT ~t ~cTcft yffm ~
3pjreT AT A XY % WWuft 3SR cfTO IR "RFt ~ A~5T #
T/Ffftd to mi dvT N k% N ferer #T W f |
3NN FTITT % ePm  *pft fM ¥kft A T, 6500 ™ 3rfto AL
Atowft tt 3R tW fAmk CTFRf N FTRPdftd AT T %FfW,
NPT FFTT*T RN % TMR ~ A W 3m~t «RTT, fonfr ~ 3PIWT
3fto M 1T ~ wf Nrw ot M f&S$i N ferg, w $ to
#T FIF 3f WFT ATTAf ARTTI fefer, AN MtfcTA fAR ATFT # R
<MRdH<* w frKr fMAr ~ srt
3RRTI 3fR, ~kr ip % Ajf Wt TAT 3 130 Wtt W% ~ fair cfaR "R
T PT MOT # HI7T \avi®y t, AMMIE AR 750N Nl NN
f~ 20%srflr™ M A wrt  Prirw r Ahr wiht N Arsr
"t to | ~Ppft N M ?]1fR At TAT ARN TTTN A
TOf "t BrWT W n fATT Wi t ~Tifa » MAT NT W t WR ~ A
WRTT W ~ |
(i) ¥RAT N JeanLfer w f2 SIAWT A ft A M ATOFR A 2w fl
N ART ARFAT AT 3M WR ATt ?
(i)WTTAF yicliildfl TOfAMtM'  MENT fRT feTT T t 2W W |
AW CTPRF 79Tt TF ARIOT TTA ~ fkf~ 1 2 3R~ TIWT ffe
N TRW At
Jean L, a global jeans manufacturing company reached its peak sales in 1996 and then
found its sales suddenly declining and within 5 years, the sales were down by 40%. A
combination of good design, pursuit of new trends and savvy marketing helped competitors
take share from Jean L. Jean L had focussed on jeans for men and company’s products
were found to be outdated, expensive and rather unresponsive to changing market preferences.
Jean L did not move its manufacturing base to low cost producing centres. The company
then responded to the declining share by three steps. First, the company closed most of
its plants in its home base, laid off Over 6500 employees and moved manufacturing to low
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cost countries. Second, it attempted to stay ahead in fashion trends rather than follow
them, paying much more attention to women, with a series of new designs such as
“superlow” line of jeans meant to be feminine, mass marketing the jeans within three
months of testing. Third, the company announced its original Spin Programme to supply
custom made jeans for individual customers, using web based technology and computer
controlled production equipment to implement mass customization. Today, a full stocked
Jean L stpre carries 130 pairs of ready to wear jeans and with ,qriginal Spin Programme,
the choices available can leap upto 750. Jean L charged premiufti of 20% for this service
which helped redefine its relationship with the customers, by becoming customer’s personal
‘Jean Adviser’. The company installed a device to scan the entirebod.y of the customer
to generate custom patterns that are instantly transmitted to the production plant to manufacture
jeans, shirts or any type of clothing.
(i) What strategy did Jean L pursue originally ? Why did the strategy fail ? How do you
evaliuate the strategic change implemented by the company ?
(i) What are the generic competitive strategies that companies can adopt ? Is it in the
interest of a nation to allow shifting of production to low cost countries ? Examine

in the context of income and employment generation. 10+10=20
“sfrfeF N tf&F FRST'graT $ fWIW T 3 WTW
% SFcfdvk ~ f ? NAT Wfw 1T

Tt ?

What is “Intellectual Property” ? What are the international mechanisms that help harmonize
intellectual property protection across different nations «? What are the methods used for

valuation of intellectual property ? 10
0] A M w I
(1.1 pPTW*
12)
(iywfri
(i) (few w t ? NN
% XN t?

(i) What is the role of government as :
(1.1) Regulator
(1.2) Promoter
(1.3) Entrepreneur ?

(if) What is “Whistle blowing” ? What steps have been taken to protect Whistle blowers
in India ? 10+10=20
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